
Wie lautet die fehlende Zahl (bis 10 000)?

Aufgabe 1

1. 3 363 -     =  1 390

2. 8 522 -     =  6 143

3. 7 696 -     =  4 683

4. 9 819 -     =  4 282

5. 9 382 -     =  791

6. 6 620 -     =  1 490

7. 9 778 -     =  2 631

8. 3 108 -     =  797

9. 9 414 -     =  5 619

10. 9 084 -     =  1 048

Aufgabe 2

1. 9 300 -     =  775

2. 7 297 -     =  5 875

3. 5 965 -     =  210

4. 7 788 -     =  3 348

5. 7 443 -     =  1 358

6. 9 660 -     =  7 984

7. 4 999 -     =  1 760

8. 8 182 -     =  5 484

9. 7 550 -     =  4 813

10. 8 680 -     =  617

Aufgabe 3

1. 8 324 -     =  4 152

2. 6 894 -     =  4 538

3. 6 240 -     =  4 292

4. 4 775 -     =  2 082

5. 9 389 -     =  6 908

6. 7 607 -     =  5 157

7. 7 111 -     =  5 388

8. 9 664 -     =  2 186

9. 7 071 -     =  343

10. 9 889 -     =  7 527

Aufgabe 4

1. 2 512 -     =  603

2. 8 237 -     =  3 683

3. 7 771 -     =  4 359

4. 9 656 -     =  2 555

5. 4 280 -     =  1 532

6. 9 181 -     =  5 030

7. 9 010 -     =  5 759

8. 7 682 -     =  4 096

9. 6 344 -     =  2 526

10. 7 822 -     =  4 653
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Wie lautet die fehlende Zahl (bis 10 000)?
| ANTWORTEN

Aufgabe 1

1. 3 363 -  1 973  =  1 390

2. 8 522 -  2 379  =  6 143

3. 7 696 -  3 013  =  4 683

4. 9 819 -  5 537  =  4 282

5. 9 382 -  8 591  =  791

6. 6 620 -  5 130  =  1 490

7. 9 778 -  7 147  =  2 631

8. 3 108 -  2 311  =  797

9. 9 414 -  3 795  =  5 619

10. 9 084 -  8 036  =  1 048

Aufgabe 2

1. 9 300 -  8 525  =  775

2. 7 297 -  1 422  =  5 875

3. 5 965 -  5 755  =  210

4. 7 788 -  4 440  =  3 348

5. 7 443 -  6 085  =  1 358

6. 9 660 -  1 676  =  7 984

7. 4 999 -  3 239  =  1 760

8. 8 182 -  2 698  =  5 484

9. 7 550 -  2 737  =  4 813

10. 8 680 -  8 063  =  617

Aufgabe 3

1. 8 324 -  4 172  =  4 152

2. 6 894 -  2 356  =  4 538

3. 6 240 -  1 948  =  4 292

4. 4 775 -  2 693  =  2 082

5. 9 389 -  2 481  =  6 908

6. 7 607 -  2 450  =  5 157

7. 7 111 -  1 723  =  5 388

8. 9 664 -  7 478  =  2 186

9. 7 071 -  6 728  =  343

10. 9 889 -  2 362  =  7 527

Aufgabe 4

1. 2 512 -  1 909  =  603

2. 8 237 -  4 554  =  3 683

3. 7 771 -  3 412  =  4 359

4. 9 656 -  7 101  =  2 555

5. 4 280 -  2 748  =  1 532

6. 9 181 -  4 151  =  5 030

7. 9 010 -  3 251  =  5 759

8. 7 682 -  3 586  =  4 096

9. 6 344 -  3 818  =  2 526

10. 7 822 -  3 169  =  4 653
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